0.2p
0.185
(,,0.162

vs dxy(PV)

05 =20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT_original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
I Efficienc] —— DQM_TT__mod_modelsdeep_somethingbetter

FARMLLN ) "- ST

gL HIIHIII:HII\IHIu'\lll\lll I

il \I |H i H

: u m || H Uil -
0‘—1—0.&0.0—0 O 02040608 1

Efficiency vs Dz(PV)
1.

i
T T

efficiency vs dz(PV)
o
@
T

o
ey
T

..................

1
»
T

Ratio

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

=
> -
a -
5§ f

b TR R R EEEEEEEERER L R
Q L
> [ . . . .
g o : : : :
(GRCE: nils I RARAARARRACAERERAFART] RERERY
© r . . . .
=
)

) S O NS RS N O

O S O 1 AR |, I

)

R L o

m p | . .
oof-4-- : A1
=05 0 0.5

1
TP dz(PV) (cm)



	Contents
	Page 1


